WEARBEST 5 22 2 20219209 H ARHS B IR 2L 37 ORI BE <5 A UM

PS5 |EsE| ENE |[REAK| PEEs KI5
1 BeRB | TN 22 1 5 280. 0
2 BeRB | TN 22 1 kG 410. 0
3 BeRB | TN 22 1 Btk 2= 330.0
1 BeRB | TN 22 1 & 330.0
5 BeRB | TN 22 2 A 740. 0
6 BRAREE | AT T2 1 = 330. 0
7 BRAREE | AT T2 2 x4 660. 0
8 BeRB | TN 22 1 B4 IE 58 410. 0
9 BRAREE | AT T2 1 RN 330. 0
10 BRAREE | AT T2 2 BEE 610. 0
11 BeRB | TN 22 1 W 5 55 330.0
12 BeRB | TN 22 1 T AR 330.0
13 BeRB | TN 22 1 AR 330.0
14 BeRB | TN 22 1 BT 280. 0
15 BeRB | TN 22 1 e 280. 0
16 BeRB | TN 22 1 BAEEL 280. 0
17 BeRB | TN 22 1 5 A 330.0
18 BeRB | TN 22 1 PN A 330.0
19 BeRB | TN 22 1 TRE 330.0
20 BeRB | TN 22 1 Y 330.0
21 BeRB | TN 22 1 T 330.0
22 BeRB | TN 22 3 =S 840. 0
23 BeRB | TN 22 1 koA 330. 0
24 BeRB | TN 22 1 BEIE % 330.0
25 BeRB | TN 22 1 o 410. 0
26 BeRB | TN 22 2 T 740. 0
27 BeRB | TN 22 1 255 280. 0
28 BeRB | TN 22 2 R i 820. 0




